MP
PLANETARY PRECISION GEARBOX

MP planetary precision gearboxes are landmark for optimal performance,
along with top reliability.

Available in different configuration (with input right angle; with output
right angle; and hollow shaft, with solid input shaft), and servo-adapters
to comply with most servomotors mechanical interface from the market.

Product Line Up:

e Higher Torque Density

e Higher Acceleration and Nominal Torques

e Higher Radial and Axial Load Capacities

e Designed for Cyclic and Continuous Duty

¢ Higher Torsional Stiffness

e Geometrical Backlash less than 10 arcmin

e Highest Flexibility (Low / Reduced Backlash; Standard / Reinforced Bearings)
e Different Constructive Version to match with your Specific Requirment.

@ Bonfiglioli

Tecnoingranaggi

93



5 FEATURES OF MP SERIES

Planetary gear units of the MP series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear
ratios and circumferential backlash.
All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
1-stage units: standard Ps < 15’; reduced Pr < 10’
2-stage units: standard Ps < 15’; reduced Pr < 10’
3-stage units (G and MB only): standard @R < 15’; reduced Pr < 10’
3-stage units: standard Ps < 17’; reduced PR < 12’
4-stage units (G and MB only): standard @s < 17’; reduced Pr < 12’

® Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.

® Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

* Noise pressure level Lp< 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-1; i=10.

e Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the
types of bearings for the output shaft.

MP 053 MP 060 MP 080 MP 105 MP 130 MP 160 MP 190
HB E E

94

Output shaft max. loading capacity
[N] 16000
15000
14000
14000
12000
10000
8000 7500
6500 6500
6000 5500
4000
4000 3800
2000 1300 1400 1500 1600
0
MP053SB  MPO060SB  MP08OSB  MPO08OHB MP105SB  MP105HB  MP130SB  MP160SB  MP 190 SB
D Ry max . A2 max
@ Bonfiglioli

Tecnoingranaggi



¢ Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

9 /10 11 12| 14 617 19 22 24 28 32 35 38 42 45 48
9.52 12.7 15.875 19.05 @ [mm]

e Lubrication optmized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty MP 053 - MP 060 MP 080 ... MP 190 oil seals
$1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
NLGI grease consistency 00
S5 (intermittent) NLGI grease consistency 00 NBR

e Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
e Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque  Mn2 [Nm]
m 3,456 |7 /|9 |1 (12|15 16 |20 |25 | 28 | 30 | 35 |36 |40 45 |48 |50 | 60 | 64 | 70 | 75| 80 | 81 | 84 | 90

MP053 12 | 15|15 |15 |15 |12 | - | 20|20|20|{20|20 20| - |20 |16 - |20|20| — |20 |20 | - |20|20 |12 |20 | -
MP 060 | 18 | 25 | 25 |25 |25 |18 |18 |30 |30 | 30|30 |30 |30 |18 (30|25 /30| - |30 /30| - |30|30|30|30|—-|30) 18
MP 080 | 40 | 50 | 50 | 50 | 50 | 40 | 40 | 70 |70 | 70 | 70 | 70 | 70 |40 |70 |50 |70 | — |70 |70 | - |70 |70 |70 |70 | — |70 |40

MP 105 | 100 | 140 | 140 | 140 | 140 | 100 | 100 | 170|170| 170|170 | 170|170 (100|170 |140|170| — |170|170| — |170|170|{170|{170| — |[170|100

MP 130 | 215|380 | 380 | 380 | 380 | 215|215 |450 | 450 | 450 | 450 | 450 | 450 | 215|450 | 380 | 450 | — |450 450 | — |450 (450|450 450 | — |450 215

MP 160 | 350 | 500 | 500 | 500 | 500 | 350 | 350 | 700 | 700 | 700 | 700 | 700 | 700 | 350 | 700 | 500 | 700 | — | 700|700 | — |700|700|700 700 | — |700 350

MP 190 | 500 | 700 | 700 | 700 | 700 | 500 | 500 |1000/1000{1000|1000{1000|1000 500 [1000| 700 |1000| — |1000/1000| — |1000{1000|/1000/1000| — {1000/ 500

[11/100 | 112|120 | 125 | 140 | 144 | 150 | 160 | 175|180 | 200 210 | 216 | 225 | 245 | 250 | 252 | 280 | 324 | 350 | 400 | 405 | 500 | 567 | 700 | 729 (1000

MPO053| 20 |20 | - 20|20 |20 | - | - |20|20| - | -|20|20|20| - |20| - |20 - |- |20| - |20| - [12] -
MPO60 | 18 | - |30 |30 [30 | - |30 |30 |30 |- [30|30(30|-|~-|30|-[3|-[30[3]|-[3]|-[30]-[18
MP080 |40 | - |70 |70 |70 | - |70|70|70| - |70|70|70| - |- |70|-|70|-|70[70|~|70|- |70~ |40
MP 105 |100| — |170|170{170| — [170|170|170| - [170{170170| - | - |170| - [170| - |170|170| - |170| - [170| - |100
MP 130 |215| — |450 450 450 | - |450|450 450 | - |450|450 (450 - | - (450 | - |450| - |450(450| - (450| - [450| - |215
MP 160 | 700 | - |350|700|700| - |700|700|700| - |700|700| - | - | - |700| - |700| - |700|700| - |700| - |700| - |350
MP 190 1000 - |500 10001000 - [1000[1000[1000| - [10001000| - | = | = |1000| - |1000| - |10001000| - [1000| - |1000| - |500
@ Bonfiglioli

Tecnoingranaggi 95



3l

5.1 ORDERING CODE
MP G 080 3 20 STD 95A CD 19 S1 OR SB KL UH1
L LUBRICANT
— standard
UH1 food grade synthetic lubricant
OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft (@ MB)
— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (MP 080 - MP 105) (@ MB)
— MOUNTING POSITION

OR horizontal

VA vertical with motor up

VB vertical with motor down

L— DUTY
$1 continuous duty
S5 intermittent duty
— INPUT SHAFT BORE
6..48 (@1S)
L—MOTOR COUPLING
CD clamping device (@ IS)
— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid input shaft (MP 053 ... MP 160) (@ G - @ MB)
FM without motor adapter
— BACKLASH
1 reduction | 2 reductions | 3 reductions | 3 reductions | 4 reductions
(MB, G only) (MB, G only)
STD QPs<15' (Ps<15 Ps<15' QPs<17' QPs<17'
Low QPr<10' QPr<10' QPr<10' QPr<12 Pr<12'
— GEAR RATIO
— REDUCTIONS
1 2 3 4
'— FRAME SIZE
053 060 080 105 130 160 190
— VERSION
— coaxial
G with input right-angle (MP 053 ... MP 160)
MB with output right-angle (MP 080 ... MP 160)
— SERIES
MP
@ Bonfiglioli

96 Tecnoingranaggi



a0l

5.1.1 VERSION AND INPUT SECTION

VERSION
coaxial (—) with input right-angle (G) with output right-angle (MB)

25AH ... 180A1 I l—
Z
®)
=
O

& IS s:!! fE=
'—
)
o
Z

FM ul =

5.1.2 MOUNTING POSITIONS
OR

MB

5.2 ADMISSIBLE RADIAL AND AXIAL FORCES FOR MB VERSION

@ R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

MP MB 080 6000 5000 60 5500 5000
MP MB 105 9000 7500 80 7500 7500
MP MB 130 13500 11500 100 11000 11500
MP MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.

@ Bonfiglioli

Tecnoingranaggi 97




5.3 DIMENSIONS AND TECHNICAL SPECIFICATIONS

IS 58.2 (VP 053 1)
72  (MP0532)
25 85.8 (MP 053 3) 24.5
3.25 2.5 3
Gl M5 14 | 14
|| &
N~ l\* 7| L
< -CE [ I - MP 053 1 0.8
A N —
™ PTS MP 053 2 1.0
é‘ —7| i— MP 0533 | 1.3
4.5 55
40 +0.05
kNN Ll
53 (MP0531)
66.8 (MP 053 2)
N5 80.6 (VP 053 3) 24.5
N3 8
1].25
|
} 14 |25 &
7 Zzo ! | —pst s
i . glf‘ 2 MP 0531 | 0.8
\\K A B ot MP 0532 | 1.0
o N =] 3 MP0533 | 1.3
/ 40 005 - M
SFse =
T é —T P
1
T
D (R N N1 N2 | N3 N4 N5 | Lmax
min max
6635 T 8 9 952 - - - - - 25 36 48
6 635 7 8 9 952 - - - - - 26 36 48
60 6:35 07 8 9 952 - - - - - 28 36 48
6 635 7 8 9 952 - - - - - 30 36 48
6 6.350 7 8 9 952 - - - - - 32 38 48 55 3.5 45 25 25
6 635 7 8 9 952 - - - - - 34 40 48
6063507 8 9 952 - - - - - 36 42 48
6 635 7 8 9 952 - - - - - 38 44 48
6635 0T 8 9 952 - - - - - 40 46 48
6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 18 25
G685 T 8 9 952 10 M1 12 127 - 40 63 60 &) M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 14 50 65 60 & M5x12 23 30
6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
G635 T 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
6 635 7 8 9 952 10 11 12 127 - 50 65 55 2 5.5 16 23
6 635 7 8 9 952 10 11 12 127 - 60 75 63 3 M5x12 18 25
6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 5.5 18 25
6 635 7 8 9 952 10 M 12 127 14 60 75 63 &) M5x12 23 30
6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 5:5 23 30
RN 6 35T 8 9 952 10 M1 12 127 14 60 85 75 &) M5x12 23 30
6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 M1 12 127 14 70 85 05, 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 606:35007 8 9 952 10 M1 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M1 12 127 14 80 100 85 3 M6x15 23 30
Please contact us for other motor adapters and input shaft bore.
@ Bonfiglioli

98

Tecnoingranaggi



L1
L3 L2
7z
b N
FM P =1
Zn S
GIIVIY 0
g
D { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6:35 74 325 50 42.5 M4x8 M4 20.2 132 3 8.7 8
8 9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
1 12 127 35.5 50 42.5 M4x8 M4 20.5 13:5 3 8.5 11
14 35.5 50 425 M4x8 M4 24 17 3 10.2 11.5
T . . 5 - - Jg [kgem?]
’ M, n n
ml n2 a2 p2 1 1max | Qs Or t 1max R2max Azmax M g
[ [Nm] [Nm] [Nm]  [min-'] [min-1] [arcmin] ’argrnr:in] IN] [N] IN] % 6..952 10..14
MP 053 1_3 12 22 40 3300 | 4000 | 15 | 10 1.0 200 500 600 97 0.06 0.08
MP 053 1_4 15 28 45 3500 | 5000 | 15 | 10 1.0 200 500 600 97 0.05 0.06
MP 053 1_5 15 28 45 3500 | 5000 | 15 | 10 1.0 200 500 600 97 0.04 0.06
MP 053 1_6 15 28 45 3500 | 5000 | 15 | 10 1.0 200 500 600 97 0.03 0.05
MP 053 1_7 15 28 45 4000 | 6000 | 15 | 10’ 1.0 200 500 600 97 0.03 0.05
MP 053 1_9 12 22 40 4000 | 6000 | 15 | 10’ 1.0 200 500 600 97 0.03 0.05
MP 053 2_12 20 30 60 3300 | 4000 | 15 | 10 0.9 200 500 600 94 0.06 0.08
MP 053 2_15 20 30 60 3300 | 4000 | 15 | 10 0.9 200 500 600 94 0.06 0.08
MP 053 2_16 20 30 60 3500 | 5000 | 15 | 10’ 0.9 200 500 600 94 0.05 0.06
MP 053 2_20 20 30 60 3500 | 5000 | 15’ | 10’ 0.9 200 500 600 94 0.04 0.06
MP 053 2_25 20 30 60 3500 | 5000 | 15’ | 10’ 0.9 200 500 600 94 0.04 0.06
MP 053 2_28 20 30 60 4000 | 6000 | 15’ | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_35 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_36 1% 28 45 4000 | 6000 | 15" | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_45 20 30 60 4000 | 6000 | 15" | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_81 12 22 40 3500 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 3_48 20 30 60 4000 | 5000 | 17’ | 12 0.1/ 200 500 600 91 0.05 0.07
MP 053 3_60 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.07
MP 053 3_64 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_75 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_80 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_84 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_100 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_112 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_125 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_140 20 30 60 4000 | 6000 | 17’ | 12 (077 200 500 600 91 0.03 0.05
MP 053 3_144 20 30 60 4000 | 6000 | 17’ | 12 0 200 500 600 91 0.03 005
MP 053 3_175 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_180 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_216 20 30 60 3500 | 5000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_225 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_245 20 30 60 4000 | 6000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_252 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_324 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_405 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_567 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_729 12 22 40 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05

@ Bonfiglioli

Tecnoingranaggi 99



25AH ... 80A

- [l
2 | 5 [\
o T T 3
4n7 S }j Tas
- 14 25
/T\ b4 =) | | ﬁ
oy T o [
P{,@J S S - - = ‘Tﬁ MPGO0532 | 1.3
o] Nl & 2 ’E[ “ MPG0533 | 15
o = N = ~ MP G 0534 | 1.8
grremn | |
58 28.1 116.5 (MP G 0534) 24.5
b {3 N N1 N2 | N3 N4 | N5 | Lmax
s
min_| max
25AH 6 635 7 8 9 95 - - - - - | 25 | 36 | 48
26AH 6 635 7 8 9 95 - - - - - | 26 | 36 | 48
28AH 6 63 7 8 9 95 - - - - - | 28 | 36 | 48
30AH 6 63 7 8 9 952 - - - - - | 30 | 36 | 48
32AH 6 635 7 8 9 952 - - - - - | 32 | 3 | 48 | 5 | 35 4.5 25 | 25
34AH 6 635 7 8 9 95 - - - - - | 34 | 40 | 48
36AH 6 635 7 8 9 952 - - - - - | 36 | 42 | 48
38AH 6 635 7 8 9 952 - - - - - | 38 | 44 | 48
40AH 6 635 7 8 9 952 - - - - - | 40 | 46 | 48
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 | M5x12 | 23 | 30
50BH 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 4 5.5 23 | 30
50C 6 635 7 8 9 952 10 1 12 127 14| 50 70 60 3 | M4x10 | 23 | 30
50MH |6 635 7 8 9 952 10 11 12 127 - | 50 65 55 2 5.5 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 63 3 | M5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 63 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 o 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 9 75 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | mMex15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 <) 75 3 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | Mex15 | 23 | 30

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 OO Tecnoingranaggi



%
L3

7777

A

@ D2
QD 5 L5 View from Q
D4
FM ] | i ‘
@D,
LIRS - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 z 325 50 425 | M4x8 | M4 202 | 132 3 87 8
9 9.52 10 325 50 425 | M4x8 | M4 202 | 132 3 7.8 9
12 12.7 355 50 425 | M4x8 | M4 205 | 135 3 8.5 1
14 355 50 425 | M4x8 | M4 24 17 3 102 | 115
[ Jg [kgem?]
| Mn 2 Ma 2 Mp 2 nq Nimax Qg Or (o} R2max = A2max n -,
: (<
\'%S‘ Nm ~
i [Nm] [Nm] [Nm] [min'] [min']  [arcmin] [arcmm] IN] [N] %  6..9.52 10..14
MP G 053 2_3 12 22 40 | 3300 | 4000 | 15' [ 10" | 1.0 | 500 | 600 | 94 0.18 0.20
MP G 053 2_4 15 28 45 | 3500 | 5000 | 15' | 10' | 1.0 | 500 | 600 | 94 0.18 0.19
MP G 053 2_5 15 28 45 | 3500 | 5000 | 15' | 10' | 1.0 | 500 | 600 | 94 017 0.19
MP G 053 2_6 15 28 45 | 3500 | 5000 | 15' [ 10" | 1.0 | 500 | 600 | 94 017 0.18
MP G 053 2_7 15 28 45 | 4000 | 6000 | 15' | 10' | 1.0 | 500 | 600 | 94 017 0.19
MP G 053 2_9 12 22 40 | 4000 | 6000 | 15' [ 10' | 1.0 | 500 | 600 | 94 0.17 0.18
MP G 0533_12 [ED 30 60 | 3300 | 4000 [ 15 | 10' | 09 [ 500 | 600 | 91 0.18 0.20
MP G 0533_15 [EN 30 60 | 3300 | 4000 | 15 | 10' | 09 | 500 | 600 | 91 0.18 0.20
MP G 0533_16 [IEN) 30 60 | 3500 | 5000 | 15 | 10' | 09 | 500 | 600 | 91 017 0.19
MP G 0533_20 [IEN) 30 60 | 3500 | 5000 | 15 | 10' | 09 | 500 | 600 | 91 0.17 0.19
MP G 0533 25 [IEX 30 60 | 3500 | 5000 | 15 | 10' | 09 | 500 | 600 | 91 017 0.19
MP G 053 3_28 [EX) 30 60 | 4000 | 6000 | 15 | 10' | 09 | 500 | 600 | 91 0.17 0.19
MP G 0533_35 [IED) 30 60 | 4000 | 6000 | 15 | 10' | 09 | 500 | 600 | 91 0.17 0.19
MP G 053 3_36 D 28 45 | 4000 | 6000 | 15' | 10" | 09 | 500 | 600 | o1 017 0.18
MP G 053 3_45 [IEN) 30 60 | 4000 | 6000 | 15 | 10' | 09 | 500 | 600 | 91 0.17 0.19
MP G 053 3_81 12 22 40 | 3500 | 6000 | 15' | 10' | 09 | 500 | 600 | of 0.17 0.18
MP G 053 4_48 [ED) 30 60 | 4000 | 5000 | 17" [ 12 | 07 [ 500 | 600 | 89 0.18 0.19
MP G 053 4_60 [IEX) 30 60 | 3500 | 5000 | 17" | 12 | 07 | 500 | 600 | 89 0.18 0.19
MP G 053 4_64 [EN) 30 60 | 3500 | 5000 | 17" | 12" | 07 | 500 | 600 | 89 0.17 0.19
MP G 0534_75 [EN 30 60 | 3500 | 5000 | 17" | 12" | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_80 [IIEX) 30 60 | 3500 | 5000 | 17" | 12" | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_84 [IEN) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_100 [IIEX) 30 60 | 3500 | 5000 | 17" | 12" | 07 | 500 | 600 | 89 0.17 0.19
MP G 053 4_112 [JIED) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_125 [JIEX) 30 60 | 3500 | 5000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_140 [IEN) 30 60 | 4000 | 6000 | 17° | 12" | 07 | 500 | 600 | 89 0.17 0.19
MP G 053 4_144 [IED) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 0.17 0.18
MP G 053 4_175 [IIEX) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.19
MP G 053 4_180 [IIEX) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.18
MP G 053 4_216 [IEX) 30 60 | 3500 | 5000 | 17* | 12 | 07 | 500 | 600 89 017 0.18
MP G 053 4_225 [IEX) 30 60 | 4000 | 6000 | 17° | 12 | 07 | 500 | 600 | 89 017 0.18
MP G 053 4_245 [JIED) 30 60 | 4000 | 6000 | 17* | 12" | 07 | 500 | 600 89 017 0.19
MP G 053 4_252 [JEX) 30 60 | 4000 | 6000 | 17" | 12" | 07 | 500 | 600 | 89 0.18 0.20
MP G 053 4_324 [JIEQ) 30 60 | 4000 | 6000 | 17" | 12 | 07 | 500 | 600 | 89 017 0.18
MP G 053 4_405 [IIEX) 30 60 | 4000 | 6000 | 17° | 12" | 07 | 500 | 600 | 89 017 0.18
MP G 053 4_567 [JIEX) 30 60 | 4000 | 6000 | 17° | 12 | 07 | 500 | 600 | 89 017 0.18
MP G 053 4_729 [P 22 40 | 4000 | 6000 | 17' | 12' | 07 | 500 | 600 | 89 0.17 0.18

@ Bonfiglioli

Tecnoingranaggi f 01



MP 060

62.75 (MP 060 1)
79.45 (MP 060 2)
96.16 (MP 060 3) 38

2.5

MP 060 1 1.2
MP0602 | 1.7
— MP 0603 | 2.0

57.55 (MP 060 1)
74.25 (MP 060 2)
N5 90.95 (mP 060 3) 38

N3 3
3.5
|
N s A
| | . :
Z0o -_r =
Zo1E e jfﬁo 9 i MP 0601 | 1.2
' i o Y / MP 060 2 1.7
=R e v | = 3 MP 0603 | 2.0
s 52 +0.05 10
\\\4\ ° :
R
b {3 N N1 N2 | N3 | N4 | N5 | Lmax
o
min | max

6 635 7 8 9 952 - - - - - 25 39 56

6 635 7 8 9 952 - — - — - 26 39 56

606.350 07 8 9 952 - - - - - 28 39 56

6 635 7 8 9 952 - - - - - 30 39 56
& EB3 U 8 9 952 - - - - — 32 39 56 65 35 4.5 25 25

6 635 7 8 9 952 - - — - — 34 40 56

§ Gl W 8 9 952 - - - - — 36 42 56

6 635 7 8 9 952 - - — - — 39 45 56

6 635 7 8 9 952 - - - - - 40 46 56
6 635 7 8 9 952 10 11 12 127 — 38.1 66.6 60 3 M4x10 18 25
6063507 8 98952 o 12 120 = 40 63 60 3 M4x10 18 25
6 635 7 8 9 952 10 M1 12 127 - 50 60 60 3 M4x10 18 25
661350 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
6 635 7 8 9 952 10 M1 12 127 14 50 65 65 3 55 25 32
6 6.35 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
66 35T 8 9 952 10 11 12 127 - 60 75 63 3 M5x12 18 25
6 635 7 8 9 952 10 M1 12 127 - 60 75 65 3 5:5 18 25
5 B&s ¥ 8 ORI 52O I 1227 14 60 75, 63 3 M5x12 23 30
6 635 7 8 9 952 10 MM 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 MM 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 66357 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 02 Tecnoingranaggi



L1
L3 L2
|
= N L=LI
FM o o [Tolmm ! A -
Q Q| - / o
% S
70 %)
&y
D| {Gr D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
S
6 6.35 7 325 50 425 | Md4x8 M4 202 13.2 3 8.7 8
9 9.52 10 325 50 425 | M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 355 50 425 | M4x8 M4 20.5 13.5 3 8.5 11
14 35.5 50 425 | M4x8 M4 24 17 3 10.2 115

Jg [kgecm?]

"X‘\‘E\i Mh2 Ma2  Mp2 Qs  Or Ct Rimax  Rz2max A2max
D)

i Nm]  [Nm]  [Nm] [arcmin] [%] N NN 6..952 10..14

MP 060 1_3
MP 060 1_4
MP 060 1_5
MP 060 1_6
MP 060 1_7
MP 060 1_10
MP 060 2_9
MP 060 2_12
MP 060 2_15
MP 060 2_16
MP 060 2_20
MP 060 2_25
MP 060 2_28
MP 060 2_30
MP 060 2_35
MP 060 2_36
MP 060 2_40
MP 060 2_50
MP 060 2_70
MP 060 2_100
MP 060 3_48
MP 060 3_64
MP 060 3_75
MP 060 3_80
MP 060 3_84
MP 060 3_90
MP 060 3_120
MP 060 3_125
MP 060 3_140
MP 060 3_150
MP 060 3_160
MP 060 3_175
MP 060 3_200
MP 060 3_210
MP 060 3_216
MP 060 3_250
MP 060 3_280
MP 060 3_350
MP 060 3_400
MP 060 3_500
MP 060 3_700
MP 060 3_1000

@ Bonfiglioli

Tecnoingranaggi 1 03



MP G 060

25AH ... 80A

3
2 IR
1 20 5
% 9 64 | fico)
° | I N~
g H-— = MPGO0602 | 1.7
° g } A MPG 0603 | 22
- \ = MPG0604 | 25
S | s
28.1 126.85 (MP G 060 4) 38
Dj@ N N1 N2 | N3 N4 N5 | Lmax
min max

25AH 6 635 7 8 9 952 - - - - - 25 89 56

26AH 6 635 7 8 9 952 - - - - - 26 39 56

28AH 6N GI35 T 8 9 952 - - - - - 28 39 56

30AH 6 635 7 8 9 952 - - - - - 30 39 56
32AH 6 635 7 8 9 952 - - - - - 32 59 56 65 3.5 4.5 25 25

34AH 6 635 7 8 9 952 - - - - - 34 40 56

36AH 6 635 7 8 9 952 - - - - - 36 42 56

39AH 6 635 7 8 9 952 - - - - - 39 45 56

40AH 6 635 7 8 9 952 - - - - - 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B G655 T 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 63 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 63 3 M5x12 23 30
60B 6N 6:35 07 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 6:35 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 686:35 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for other motor adapters and input shaft bore.
@ Bonfiglioli

104

Tecnoingranaggi



MP G 060

@ D1
N N 3
& N
@ D2
QD L5 View from Q
oL 1 = D4
FM L = ‘
@D |
o~
D (\» D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | Max8 | M4 202 | 132 3 8.7 8
8 9 9.52 10 325 50 425 | Max8 | M4 20.2 132 8 7.8 9
11 12 12.7 35.5 50 425 | Max8 | M4 205 | 135 3 8.5 11
14 35.5 50 425 | M4x8 M4 24 17 3 10.2 115

(Ps (pR Ct R2 max

[Nm

[arcmin] arcmin] [N] 6..952 10..14

MP G 060 2_3
MP G 060 2_4
MP G 060 2_5
MP G 060 2_6
MP G 060 2_7
MP G 060 2_10
MP G 060 3_9
MP G 060 3_12
MP G 060 3_15
MP G 060 3_16
MP G 060 3_20
MP G 060 3_25
MP G 060 3_28
MP G 060 3_30
MP G 060 3_35
MP G 060 3_36
MP G 060 3_40
MP G 060 3_50
MP G 060 3_70
MP G 060 3_100
MP G 060 4_48
MP G 060 4_64
MP G 060 4_75
MP G 060 4_80
MP G 060 4_84
MP G 060 4_90
MP G 060 4_120
MP G 060 4_125
MP G 060 4_140
MP G 060 4_150
MP G 060 4_160
MP G 060 4_175
MP G 060 4_200
MP G 060 4_210
MP G 060 4_216
MP G 060 4_250
MP G 060 4_280
MP G 060 4_350
MP G 060 4_400
MP G 060 4_500
MP G 060 4_700
MP G 060 4_1000

@ Bonfiglioli

Tecnoingranaggi f 05



IS 105.3 (MP 080 1)
129.8 (MP 080 2)
154.3 (MP 080 3)

6 h7
L
==
S R I = | — MP 0801 | 4.0
5= MP0802 | 4.6
MP 0803 | 52

65+0.05

65 +0.05

40B1 ... 110B1

83.5 (MP 080 1)
108 (MP0802)
N5  132.5 (MP 080 3) 46

N3 5
7
|
— 30 | 5 &
| g
| se, I &= _ﬂa S| MP 0801 | 4.0
o o I ® MP 0802 | 4.6
by / = 3 MP 0803 | 5.2
=
12
D ( N N1 N2 N3 N4 N5 Lmax
40B1 8 9 952 11 12 127 14 - - - - — | 40 | 83 | 80 4 | M4x12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - — | 45 | 83 | 80 4 | Max12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - — — — | 50 | 85 | 80 4 | msx16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - - | 50 | 65 | 80 4 5.5 34 | 40
50C1 8 9 952 11 12 127 14 - - - — — | 50 | 70 | 80 4 | Max10 | 34 | 40
50D 8 9 952 11 12 127 14 - - — — — | 50 | 95 | 80 4 | mMex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - — — - | 60 | 75 | 80 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - — — — | 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - - | 60 | 8 | 80 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 90 | 80 4 | M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - - - — | 73 | 984 | 85 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 | Mex16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
10B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 06 Tecnoingranaggi



L1
L3 L2
[
FM 5 S A =
7 )
Y, 0
g LLA
LR - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 7655 M6x12 M6 32.2 26.3 915 19.3 10.5
1 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12!5
14 15.875 16 17 48 68 76% M6x12 M6 32:2 26.3 915 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 322 26.3 9.5 19.3 16.5
N SB HB Ja [kgem?]
w‘ Mnh2 Maz Mp2 n1 nimax Qs Qg Ct Rimax R2max A2max R2max Azmax 1 ) {ﬁ
I [Nm] [Nm] [Nm] [min-"] [min-"] [arcmin] [ arﬁr:r: inl [N] IN] [N] [N] [Nl % 8..127 14..19.05
MP 080 1_3 40 | 80 | 180 | 2900 | 3500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.50 0.59
MP 080 1_4 50 | 80 | 200 [ 3100|4500 | 15' | 10' 0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.34 0.43
MP 080 1_5 50 | 80 | 200 | 3200|4500 | 15' | 10' 70 400 | 1300 | 1400 | 2500 | 3000 | 97 0.28 037
MP 080 1_6 50 | 80 | 200 | 3200|4500 | 15' | 10' 70 400 | 1300 | 1400 | 2500 | 3000 | 97 0.21 0.30
MP 080 1_7 50 | 80 | 200 [ 4000|6000 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0:23 0.32
MP 080 1_10 40 | 80 | 180 | 4000 | 6000 | 15' | 10' 0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.20 0.29
MP 080 2_9 40 | 80 | 180 | 2900|3500 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.49 0.58
MP 080 2_12 70 | 100 | 250 | 2900 | 3500 | 15' | 10' 9.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.47 0.56
MP 080 2_15 70 | 100 | 250 | 2900 | 3500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.46 0555
MP 080 2_16 70 | 100 | 250 | 3100 | 4500 | 15' | 10' 9.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.32 0.41
MP 080 2_20 70 | 100 | 250 | 3200 | 4500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0127 0.36
MP 080 2_25 70 | 100 | 250 | 3200 | 4500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_28 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_30 40 | 80 | 180 | 4000 | 6000 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_35 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 031
MP 080 2_36 50 | 80 | 200 | 3200|4500 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_40 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_50 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_70 70 | 100 | 250 [ 4000 | 6000 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_100 40 | 80 | 180 | 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 3_48 70 | 100 | 250 | 3100 | 4500 | 17' | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.33 0.42
MP 080 3_64 70 | 100 | 250 | 3100 | 4500 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_75 70 | 100 | 250 | 3200 | 4500 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0127 0.36
MP 080 3_80 70 | 100 | 250 [ 3100 | 4500 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_84 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0123 0:32
MP 080 3_90 40 | 80 | 180 | 4000|6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_120 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_125 70 | 100 | 250 | 3200 | 4500 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_140 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0:3i
MP 080 3_150 70 | 100 | 250 {4000 | 6000 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_160 70 | 100 | 250 [ 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_175 70 | 100 | 250 [ 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_200 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_210 70 | 100 | 250 {4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_216 70 | 100 | 250 | 3200 | 4500 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_250 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_280 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_350 70 | 100 | 250 [ 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_400 70 | 100 | 250 [ 4000|6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_500 70 | 100 | 250 {4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_700 70 | 100 | 250 [ 4000|6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
(" AOE MGl 40 | 80 | 180 | 4000 | 6000 [ 17' | 12" 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28

@ Bonfiglioli

Tecnoingranaggi f 07



MP G 080

40B1 ... 110B1

N3
Q
O

[}
= o
N
} N5
e
—9
)
o
[6)]

0 |
~ N 76.5 &
' 5 | T
H —t -t H—- ‘Té MPG0802 | 52
ol Ns @ : E““ MPG 0803 | 58
S ¥ | o MP G 0804 | 64
Sy | e
38.25 192.55 (MP G 080 4) 46
p| 1 N | Nt | N2 | N3 N4 N5 | Lmax
40B1 8 9 952 M 12 127 14 - - - - - | 40 | 63 | 80 | 4 | mMax12 | 34 | 40
45A 8 9 952 1 12 127 - - - - - - | 45 | 63 | 80 | 4 | M4x12 | 34 | 40
50B1 8 9 952 M 12 127 14 - - - - - | 5 | 65 | 8 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - — - | 50 | 65 | 80 | 4 55 34 | 40
50C1 8 9 95 M 12 127 14 - - - - - | 5 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 8 9 95 M 12 127 14 - - - - - | 5 | 95 | 80 | 4 | M6x20 | 34 | 40
55A 8 9 952 1 12 127 14 15875 16 17 19 19.05| 555 [1257 | 105 | 4 | M6x20 | 34 | 40
60A2 |8 9 952 11 12 127 14 - - - — - | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - | 60 | 75 | 90 | 4 6.5 34 | 40
60B1 8 9 952 1 12 127 14 15875 16 - - - | 60 | 85 | 80 | 4 | M5x16 | 34 | 40
60C1 8 9 952 1 12 127 14 15875 16 - - - | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 8 9 952 1 12 127 14 15875 16 17 19 1905 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 1905 70 | 8 | 90 | 4 6.5 34 | 40
70B1 8 9 952 1 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 8 9 952 M 12 127 14 - - - - - | 73 |94 | 8 | 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 1 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 1905 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A |8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 15 | 4 | M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 08 Tecnoingranaggi



MP G 080

@ D1
N N 3
& N
@ D2 :
QD L5 View from Q
o 1 ~ D4
FM <] Y5 -
@D '
Djj@ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | Mex12 | M6 322 | 263 95 193 | 105
11 12 12.7 43 68 765 | M6x12 | M6 322 | 263 95 193 | 125
14 15875 16 17 48 68 765 | Mex12 | M6 322 | 263 95 193 | 145
19 19.05 51 68 765 | Mex12 | M6 322 | 263 95 193 | 165

;] HB Jg [kgem?]

@Ps @Or Ct Romax A2max Rzmax Azmax 1

farcmin] [ag—mm NG N NN 8..127 14..19.05

MP G 080 2_3
MP G 080 2_4
MP G 080 2_5
MP G 080 2_6
MP G 080 2_7
MP G 080 2_10
MP G 080 3_9
MP G 080 3_12
MP G 080 3_15
MP G 080 3_16
MP G 080 3_20
MP G 080 3_25
MP G 080 3_28
MP G 080 3_30
MP G 080 3_35
MP G 080 3_36
MP G 080 3_40
MP G 080 3_50
MP G 080 3_70
MP G 080 3_100
MP G 080 4_48
MP G 080 4_64
MP G 080 4_75
MP G 080 4_80
MP G 080 4_84
MP G 080 4_90
MP G 080 4_120
MP G 080 4_125
MP G 080 4_140
MP G 080 4_150
MP G 080 4_160
MP G 080 4_175
MP G 080 4_200
MP G 080 4_210
MP G 080 4_216
MP G 080 4_250
MP G 080 4_280
MP G 080 4_350
MP G 080 4_400
MP G 080 4_500
MP G 080 4_700
MP G 080 4_1000

@ Bonfiglioli

Tecnoingranaggi f 09



MP MB 080

40B1 ... 110B1 20 64
a2 _ |
% @ 2066
| | NS s m‘
I Pl
Ys : N3 | N
SO i &
b 0 . @
] i‘} e ) *
S serl b o eBEe
Io]
e o T o
N | |
| | N I
B— O | +
225 ‘ 80 ® 20h7 ©
95 42
149.5 (MP MB 080 2)
174  (MP MB 080 3)
198.5 (MP MB 080 4) K
’ 6 Nm
‘ 29 —
) )
e T MPMB 0802 | 14.0
8 MP MB 080 3 | 15.0
MP MB 0804 | 16.0
I
D (R N N1 N2 N3 N4 N5 Lmax
7
40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 5.5 34 40
50C1 8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7 | 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 - - - - - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - - - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 54 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

11 O Tecnoingranaggi



MP MB 080

L1
L3 L2
52z [
ol i S b1 i
FM S s 3 =
7 | Q
o ©
Y 4l
D {F D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | Mex12 | M6 322 | 263 95 193 | 105
1 12 12.7 43 68 765 | Mex12 | M6 322 | 263 95 193 | 125
14 15875 16 17 48 68 765 | Mex12 | M6 322 | 263 95 193 | 145
19 19.05 51 68 765 | Mex12 | M6 322 | 263 95 193 | 165

T Je [kgecm?]
‘\, il Mn 2 Ma 2 Nmax Qs Or Ct
W

: Nm

[Nm] [Nm] [min-1] [arcmin] e 9 8..12.7 14..19.05
MP MB 080 2_3
MP MB 080 2_4
MP MB 080 2_5
MP MB 080 2_6
MP MB 080 2_7
MP MB 080 2_10
MP MB 080 3_9
MP MB 080 3_12
MP MB 080 3_15
MP MB 080 3_16
MP MB 080 3_20
MP MB 080 3_25
MP MB 080 3_28
MP MB 080 3_30
MP MB 080 3_35
MP MB 080 3_36
MP MB 080 3_40
MP MB 080 3_50
MP MB 080 3_70
MP MB 080 3_100
MP MB 080 4_48
MP MB 080 4_64
MP MB 080 4_75
MP MB 080 4_80
MP MB 080 4_84
MP MB 080 4_90
MP MB 080 4_120
MP MB 080 4_125
MP MB 080 4_140
MP MB 080 4_150
MP MB 080 4_160
MP MB 080 4_175
MP MB 080 4_200
MP MB 080 4_210
MP MB 080 4_216
MP MB 080 4_250
MP MB 080 4_280
MP MB 080 4_350
MP MB 080 4_400
MP MB 080 4_500
MP MB 080 4_700
MP MB 080 4_1000

@ Bonfiglioli

Tecnoingranaggi 111




Is 121.3 (MP 105 1)
153.8 (MP 105 2)
47 186.3 (MP 105 3) 57.5
5 |, 4 5

MP 1051 | 6.5
MP 1052 | 85
MP 1053 | 10.5

106

851+0.05

107.5 (MP 105 1)
140 (MP1052)
N5 172.5 (mp1053) 57.5

N3 5
"2
Il
3515 ﬁ
| \
zol ,5155 WP 1051 65
7 o] R MP 1052 | 85
= 3 MP 1053 | 105
e 85 +0.05 15 =
Fse
S
bR N | Nt | N2 | N3 | N4 | N5 | Lmax
11 12 127 14 15 15875 16 19 - - — — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 55 1257 105 | 5 | Mex16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 65 | 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - - - - | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 8 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 8 | 100 | 4 65 | 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 100 | 4 65 | 33 | 40
95A | 11 12 127 14 15 15875 16 19 - - - - | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 - - | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 1 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
M0A |11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
10A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
0B | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

112 Tecnoingranaggi



L1
L3 L2
8| foit R e ey SR N — -
FM Q Q- e}
S|
O
Q/ L4
LIRS - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 | Mexi5 | Mé | 315 | 195 | 76 12 125
14 15 15875 16 48 90 98 | Méx15 | M6 | 315 | 195 | 76 12 14.5
19 51 90 98 | Mexi5 | Me | 315 | 195 | 76 12 16.5
22 24 56.5 90 98 | Méx15 | Msé 35 23 7.6 12 19
28 67 90 98 | Mex15 | M8 35 23 7.6 14 225
32 71 90 98 | Mex15 | M8 37 25 7.6 16 24.5
NS sB HB Ja [kgem?]
m‘ Mi2 Maz2 Mp2 N1 Nimax @s @r|  Ct  Rimax R2max A2 max R2 max A2 max M ‘5.

i [Nm] [Nm] [Nm] [min-1] [min-*] [arcmin] [%] INl INN NI NI Nl % 11..12.7 14...19 22-24 28-32

MP 1051_3 100 | 180 | 360 | 2500 | 3500 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97 1.70 1.78 | 2.22 | 2.59
MP 1051_4 140 ] 210 | 450 | 2800 | 4500 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97| 0.99 1.06 | 1.51 | 1.87
MP 1051_5 140|210 | 450 | 3000 | 4500 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 |97 0.72 079 | 1.23 | 1.60
MP 105 1_6 140 ] 210 | 450 | 3000 | 4500 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 |97 0.36 043 | 0.88 | 1.24
MP 1051_7 140 210 | 450 | 3500 | 5000 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97| 0.47 0.55 | 0.99 | 1.35
MP 105 1_10 100 | 180 | 360 | 3500 | 5000 | 15'| 10" | 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97| 0.33 0.41 0.85 | 1.21
MP 105 2_9 100|180 | 360 | 2500 | 3500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94 1.58 1.63 | 2.07 | 2.44
MP 105 2_12 170 ] 250 | 600 | 2500 | 3500 | 15'| 10" | 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94 1.52 159 | 2.03 | 240
MP 105 2_15 170 250 | 600 | 2500 | 3500 | 15'| 10" | 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94 1.47 155 | 1.99 | 2.36
MP 105 2_16 170 250 | 600 | 2800 | 4500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 |94 0.87 0.95 | 1.39 | 1.76
MP 105 2_20 170 250 | 600 | 3000 | 4500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.86 093 | 1.37 | 1.74
MP 105 2_25 170 | 250 | 600 | 3000 | 4500 | 15'| 10'| 20.5 | 600 | 1500 [ 1600 | 3800 [ 4000 | 94| 0.63 0.71 1.15 | 1.51
MP 105 2_28 170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 [ 4000 | 94| 0.43 0.51 0.95 | 1.32
MP 105 2_30 100 | 180 | 360 | 3500 | 5000 | 15'| 10"| 20.5 | 600 | 1500 [ 1600 | 3800 [ 4000 | 94| 0.32 040 | 0.84 | 1.20
MP 105 2_35 170|250 | 600 | 3500 | 5000 | 15'| 10"| 20.5 | 600 | 1500 [ 1600 | 3800 [ 4000 | 94| 0.43 050 | 0.95 | 1.31
MP 105 2_36 140|210 | 450 | 3000 | 4500 | 15'| 10"| 20.5 | 600 | 1500 [ 1600 | 3800 | 4000 | 94| 0.32 0.39 | 0.84 | 1.20
MP 105 2_40 170|250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 |94 | 0.31 039 | 0.83 | 1.20
MP 105 2_50 170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 |94 | 0.31 039 | 0.83 | 1.19
MP 105 2_70 170|250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.31 038 | 0.83 | 1.19
Vs 100 | 180 | 360 | 3500 | 5000 | 15') 10" 20.5 | 600 | 1500 | 1600 | 3800 | 4000 (94| 0.31 0.38 | 0.83 | 1.19
MP 105 3_48 170|250 | 600 | 2800|4500 | 17| 12"| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.91 098 | 142 | 1.79
MP 105 3_64 170 | 250 | 600 | 2800 | 4500 | 17'|12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.87 0.94 | 138 | 1.75
MP 105 3_75 170 ] 250 | 600 | 3000|4500 | 17'|12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.66 0.74 | 118 | 1.55
MP 105 3_80 170 250 | 600 | 2800 | 4500 | 17' | 12"| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.86 094 | 1.38 | 1.756
MP 105 3_84 170 ] 250 | 600 | 3500 | 5000 | 17' | 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.44 052 | 0.96 | 1.33
MP 105 3_90 100 | 180 | 360 | 3500 | 5000 | 17' | 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.32 0.39 | 0.84 | 1.20
Vs el A 170 | 250 | 600 | 3500 | 5000 | 17' (12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.32 039 | 0.84 | 1.20
Vs EreR P 170 | 250 | 600 | 3000 | 4500 | 17' (12" 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.63 0.70 | 1.15 | 1.51
Vs Rl 170 | 250 | 600 | 3500 | 5000 | 17' (12" 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.43 0.51 0.95 | 1.32
Vs el 170 | 250 | 600 | 3500 | 5000 | 17" (12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.32 039 | 0.84 | 1.20
Vs TR 170 | 250 | 600 | 3500 | 5000 | 17' [ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.39 | 0.83 | 1.21
Wds el el ] 170 | 250 | 600 | 3500 | 5000 | 17' [ 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.43 050 | 0.95 | 1.31
Wl e 170 | 250 | 600 | 3500 | 5000 | 17' (12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.39 | 0.83 | 1.20
Vs e lPA T 170 | 250 | 600 | 3500 | 5000 | 17') 12" 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.32 039 | 0.84 | 1.20
W ETeRPA ] 170 | 250 | 600 | 3000 | 4500 | 17' (12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.39 | 0.83 | 1.20
ARl 170 | 250 | 600 | 3500 | 5000 | 17 (12" 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 039 | 0.83 | 1.19
Vs el 170 | 250 | 600 | 3500 | 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 | 1.19
Vs Rl 170 | 250 | 600 | 3500 | 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 | 1.19
Vs R 170 | 250 | 600 | 3500 | 5000 | 17" 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 | 1.19
Vs R 170 | 250 | 600 | 3500 | 5000 | 17') 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 | 1.19
Vs TR 170 | 250 | 600 | 3500 | 5000 | 17" 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 | 1.19
Vss el i 100 | 180 | 360 | 3500 | 5000 | 17' 12'( 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91 0.31 0.38 | 0.83 [ 1.19

@ Bonfiglioli

Tecnoingranaggi 1 3



50D ... 130A1

g N |
gl [£%\T
[T) ) | I 5 .
g - ! .2
8h7 i T35 s
2NN AR % - Jico)
P{‘@“ i O e e | HE-— Ttg MPG1052 | 85
o [N~ 2 | =t~ MP G 1053 | 105
& e i & 9 MPG1054 | 125
170.3 (MP G 105 2) ’L
85£0.05 202.8 (MP G 105 3) | M8x15
98 49 235.3 (MP G 1054) 57.5

b 1R N | N1t | N2 | N3 N4 | N5 | Lmax
&

1 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40

1 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 5 | Méx16 | 28 | 40

60A2 | 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 4 65 | 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - - — — | 60 | 85 | 100 | 65 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 85 | 100 | 65 | Méxi4 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 85 | 100 | 4 65 | 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — - — | 80 | 100 | 100 | 4 65 | 33 | 40
95A 11 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
10A |11 12 127 14 15 15875 16 19 - - — — | 110 | 130 | 115 | 65 | Méx18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
10B | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

114 Tecnoingranaggi



@ D1

L3

7777
Kesrs
e
/
7
2

@ D2 -
0 L5 View from Q
05
‘ - D4
| | a5 :

FM @D, |

R

D| {2 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

P
1 12 12.7 43 90 98 M6x15 M6 315 19.5 7.6 12 125
14 15 15.875 16 48 90 98 M6x15 M6 315 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 315 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 76 12 19
28 67 90 98 M6x15 M8 35 23 76 14 225
32 7 90 98 M6x15 M8 37 25 7.6 16 24.5

SB Ja [kgem?]

’w- Mp2 n1 Nimax @s Qr | Ct RzmaxA2maxR2maxA2max M
\’

[ i) g i) [arcmm] N [N] 1..12.7 14...19 22-24 28-32

MP G 1052_3
MP G 1052_4
MP G 1052_5
MP G 105 2_6
MP G 105 2_7
MP G 105 2_10
MP G 1053_9
MP G 105 3_12
MP G 105 3_15
MP G 105 3_16
MP G 105 3_20
MP G 105 3_25
MP G 105 3_28
MP G 105 3_30
MP G 105 3_35
MP G 105 3_36
MP G 105 3_40
MP G 105 3_50
MP G 105 3_70
MP G 105 3_100
MP G 105 4_48
MP G 105 4_64
MP G 105 4_75
MP G 105 4_80
MP G 105 4_84
MP G 105 4_90
MP G 105 4_120
MP G 105 4_125
MP G 105 4_140
MP G 105 4_150
MP G 105 4_160
MP G 105 4_175
MP G 105 4_200
MP G 105 4_210
MP G 105 4_216
MP G 105 4_250
MP G 105 4_280
MP G 105 4_350
MP G 105 4_400
MP G 105 4_500
MP G 105 4_700
MP G 105 4_1000

@ Bonfiglioli

Tecnoingranaggi 11 5



MP MB 105

50D ... 130A1

25 95
144 %8 ‘
o 32G6 )
‘ N5 Q ! .-m‘ =
' N3 | (’1”1‘"7",_ |
Y1 } e )
I ER S | &
I
8 |t e - 8538
g bbb | 2 :
o |
——a r
325 95 o et
| 144
195 (MPMB 105 2)
227.5 (MP MB 105 3)
260 (MP MB 105 4) _ 6 Nm
‘| 34 —C
o MP MB 1052 | 32
‘:‘; o MP MB 1053 | 34
MP MB 1054 | 36
b N | Nt | N2 | N3 | N4 | N5 | Lmax
11 12 127 14 15 15875 16 19 - - — - 50 95 | 100 5 M6x14 | 28 40
11 12 127 14 15 15875 16 19 - - — - 55 | 125.7 | 105 5 M6x16 | 28 40
60A2 11 12 127 14 15 15875 16 19 - - — — | 60 75 | 100 | 65 | M5x14 | 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - - — — | 60 75 | 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 - - — — | 60 8 | 100 | 65 | M5x14 | 28 40
70A1 1 12 127 14 15 15875 16 19 - - — - 70 85 100 | 6.5 | M6éx14 | 28 40
70AH1 | 11 12 127 14 15 15875 16 19 - — — — 70 85 | 100 4 6.5 33 40
70B1 1 12 127 14 15 15875 16 19 - - — - 70 90 100 | 6.5 | M5x12 | 28 40
80A1 1M1 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 65 | Méex16 | 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - — - 80 | 100 | 100 4 6.5 33 40
95A 1 12 127 14 15 15875 16 19 - — — - 95 15 | 100 | 6.5 | M8x18 | 28 40
95A1 1M1 12 127 14 15 15875 16 19 22 24 — - 95 15 | 100 | 6.5 | M8x18 | 38 50
95B 1 12 127 14 15 15875 16 19 - - — — | 95 | 130 | 115 | 65 | M8x18 | 28 40
110A 1 12 127 14 15 15875 16 19 - — — — | 110 | 130 | 115 | 6.5 | M8x18 | 28 40
110A1 1 12 127 14 15 15875 16 19 22 24 - — | 110 | 130 | 115 | 6.5 | M8x20 | 38 50
110B 1 12 127 14 15 15875 16 19 22 24 — — | 110 | 145 | 120 | 65 | M8x20 | 38 50
110B1 1 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 60
130A 1M1 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 50
130A1 1M1 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 60

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

11 6 Tecnoingranaggi



MP MB 105

L1
L3 L2
52z [
FM 81t Bl B ’
8 - a
7 I&
o ©
4
D:(@L D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 | M6 315 19.5 76 12 12.5
14 15 15.875 16 48 90 98 M6x15 | M6 315 19.5 76 12 14.5
19 51 90 98 M6x15 | M6 315 19.5 76 12 16.5
22 24 56.5 90 98 M6x15 | M6 35 23 76 12 19
28 67 90 98 M6x15 | M8 35 23 76 14 2215
32 71 90 98 M6x15 | M8 37 25 7.6 16 245

N
.‘}“h‘}l n Ct
i [min-1] [min-1]  [arcmin] [ A ] % 1M..127 14..19
o =h2
MP MB 105 2_3
MP MB 105 2_4
MP MB 105 2_5
MP MB 105 2_6
MP MB 105 2_7
MP MB 105 2_10
MP MB 105 3_9
MP MB 105 3_12
MP MB 105 3_15
MP MB 105 3_16
MP MB 105 3_20
MP MB 105 3_25
MP MB 105 3_28
MP MB 105 3_30
MP MB 105 3_35
MP MB 105 3_36
MP MB 105 3_40
MP MB 105 3_50
MP MB 105 3_70
MP MB 105 3_100
MP MB 105 4_48
MP MB 105 4_64
MP MB 105 4_75
MP MB 105 4_80
MP MB 105 4_84
MP MB 105 4_90
MP MB 105 4_120
MP MB 105 4_125
MP MB 105 4_140
MP MB 105 4_150
MP MB 105 4_160
MP MB 105 4_175
MP MB 105 4_200
MP MB 105 4_210
MP MB 105 4_216
MP MB 105 4_250
MP MB 105 4_280
MP MB 105 4_350
MP MB 105 4_400
MP MB 105 4_500
MP MB 105 4_700
MP MB 105 4_1000

@ Bonfiglioli

Tecnoingranaggi 17



151.2 (MP 130 1)

190.7 (MP 130 2)

230.2 (MP 130 3)
5

MP 1301 | 12.0
MP 1302 | 155
MP 1303 | 18.5

138

110+0.05

110 £0.05

55A1 ... 180A1

126 (MP 130 1)
165.5 (MP 130 2)
N5 205 mP1303) = 69.5

Q
K on7 N3 7
"8
|
5 5013 &
& T
\ Z0o | g cl c
(@)t SR : N%I% 8 MP 1301 | 12.0
L A | 3 MP 1302 | 155
AT = & MP 1303 | 185
¢ [ M0zoss 20 =
RN
T

ng% N | N1 | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - - - — | 555 |1257| 130 | 4 | Mexi5 | 395 | 50
14 15875 16 19 - - - — — — | 8 | 100 | 130 | 4 | Mexi5 | 395 | 50
14 15875 16 19 22 24 - - - — | 9 | 115 | 130 | 4 | M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 130 | 4 | M8x20 | 395 | 50
14 15875 16 19 22 24 - - — - [ 110 | 145 | 130 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 - - - - [1143| 200 | 170 | 55 | M12x25 | 395 | 50
14 15875 16 19 22 24 28 32 35 38 (1143 | 200 | 170 | 55 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - — — | 130 | 165 | 140 | 4 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 4 | M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 — - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 8 Tecnoingranaggi



L1
L3 L2
ol a L .
FM 5 a2 —]
7 &
G )
g .
D éj‘; D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 M8x15 M6 40 215 6 20 14.5
19 51 113 1255 M8x15 M6 40 27.5 6 20 16.5
22 24 5615 {1ils 1255 M8x15 M6 41 285 6 19.5 19
28 67 13 125.5 M8x15 M8 41 28.5 6 19.5 225
32 76 113 1255 M8x15 M8 41 285 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 {113 1255 M8x15 M8 50 315 11.25 26 28
N Jg [kgem?]
‘\‘}I Maz Mp2 | n1 nimax Qs @ Ogr Ct RimaxR2maxAzmax 0 -,
i [Nm] [Nm] [min-1] [min-1]  [arcmin] [argmin] [N] [N] | [N] % 14..19 22-24 28-3235-38
MP 130 1_3 400 | 800 | 2100 | 3000 | 15 10' 43.0 | 800 | 5500 | 6500 | 97 D125 5.46 581 | 7.16
MP 130 1_4 600 | 1100 | 2400 | 3500 | 15' 10' 43.0 | 800 | 5500 | 6500 | 97 3.06 3.26 3.61 | 4.97
MP 130 1_5 600 | 1100 | 2900 | 3500 | 15" | 10' 43.0 800 | 5500 | 6500 | 97 222 2.42 2.77 | 413
MP 130 1_6 600 | 1100 | 2900 | 3500 | 15' 10' 43.0 | 800 | 5500|6500 | 97 1.19 1.40 1750|080
MP 1301_7 600 | 1100 | 3200 | 4000 | 15' 10' 43.0 | 800 | 5500|6500 | 97 1.47 1.68 210388338
MP 130 1_10 400 | 800 | 3200 | 4000 | 15" | 10' 43.0 | 800 | 5500 | 6500 | 97 1.04 1.25 1.60 | 2.95
MP 1302_9 400 | 800 | 2100 | 3000 | 15" | 10 37.5 | 800 |[5500 | 6500 | 94 4.82 5.02 5.7 0|62
MP 130 2_12 700 | 1300 | 2100 | 3000 | 15" | 10' 37.5 | 800 | 5500 | 6500 | 94 4.57 4.78 5.13 | 6.48
MP 130 2_15 700 | 1300 | 2100 | 3000 | 15" | 10' 37.5 | 800 | 5500 | 6500 | 94 4.48 4.69 5.04 | 6.39
MP 130 2_16 700 | 1300 | 2400 | 3500 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 2.67 2.88 3.23 | 4.58
MP 130 2_20 700 | 1300 | 2900 | 3500 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 1.97 218 2530 [13:88
MP 130 2_25 700 | 1300 | 2900 | 3500 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 1.94 245 21500 (E3:85
MP 130 2_28 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 1.34 155 190N (F3:25
MP 130 2_30 400 | 800 | 3200 | 4000 | 15" | 10' 37.5 | 800 | 5500 | 6500 | 94 1.00 1.21 1.56 | 2.91
MP 130 2_35 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 (5338 15538 1.88 | 3.24
MP 130 2_36 600 | 1100 | 2900 | 3500 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 1505 1.26 1.61 | 2.96
MP 130 2_40 700 | 1300 | 3200 | 4000 | 15" | 10 37.5 | 800 | 5500 | 6500 | 94 0.98 1.19 1.54 | 2.89
MP 130 2_50 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 0.97 1.18 1.53 | 2.88
MP 130 2_70 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 0.96 1. 1.52 | 2.87
MP 130 2_100 400 | 800 | 3200 | 4000 | 15' 10' 37.5 | 800 | 5500 | 6500 | 94 0.96 Ul 1.52 | 2.87
MP 130 3_48 700 | 1300 | 2400 | 3500 | 17" 125 29.5 | 800 |5500 |6500 | 91 200 2.98 3.33 | 4.68
MP 130 3_64 700 | 1300 | 2400 | 3500 | 17" 12' 29.5 | 800 |5500 |6500 | 91 2165 2.86 3.21 | 4.56
MP 130 3_75 700 | 1300 | 2900 | 3500 | 17" 12' 29.5 | 800 |5500 |6500 | 91 2.03 2.24 259 | 3.94
MP 130 3_80 700 | 1300 | 2400 | 3500 | 17" 12' 29.5 | 800 | 5500 | 6500 | 91 2.65 2.85 3.20 | 4.56
MP 130 3_84 700 | 1300 | 3200 | 4000 | 17" | 12 29.5 | 800 | 5500 | 6500 | 91 (im0 1.58 1:93°[73:28
MP 130 3_90 400 | 800 | 3200 | 4000 | 17" 12 29.5 | 800 | 5500 | 6500 | 91 1.00 1.20 1.55 | 2.91
MP 130 3_120 700 | 1300 | 3200 | 4000 | 17" 12' 29.5 | 800 | 5500 | 6500 | 91 0.99 1.20 1.55 | 2.90
MP 130 3_125 700 | 1300 | 2900 | 3500 | 17" 12 29.5 | 800 | 5500 | 6500 | 91 {r938 25138 248 | 3.84
MP 130 3_140 700 | 1300 | 3200 | 4000 | 17 12! 29.5 | 800 | 5500 | 6500 | 91 1.34 1.54 dE89NE3:25
MP 130 3_150 700 | 1300 | 3200 | 4000 | 17" 12' 29.5 | 800 | 5500 | 6500 | 91 0.99 1.20 1.55 | 2.90
MP 130 3_160 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 0.98 (15118 12530 [W2:89
MP 130 3_175 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 1232 153 dESSRE323
MP 130 3_200 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 0.97 1.18 1:53 [ 2.88
MP 130 3_210 700 | 1300 | 3200 | 4000 | 17" | 12 29.5 | 800 | 5500|6500 | 91 0.99 1.20 (255082590
MP 130 3_216 700 | 1300 | 2900 | 3500 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 1.05 1.26 1.61 | 2.96
MP 130 3_250 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 0.97 1.18 1.53 | 2.88
MP 130 3_280 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 800 | 5500 | 6500 | 91 0.96 d817 1.52 | 2.87
MP 130 3_350 700 | 1300 | 3200 | 4000 | 17 12' 29.5 | 800 | 5500 | 6500 | 91 0.96 1ailyd 1.52 | 2.87
MP 130 3_400 700 | 1300 | 3200 | 4000 | 17 12' 29.5 | 800 | 5500 | 6500 | 91 0.96 ot/ 152 | 2.87
MP 130 3_500 700 | 1300 | 3200 | 4000 | 17 12' 29.5 | 800 | 5500 | 6500 | 91 0.96 il 1552 1|1 2.87
MP 130 3_700 700 | 1300 | 3200 | 4000 | 17 12' 29.5 | 800 | 5500 | 6500 | 91 0.96 iy 1.52 | 2.87
MP 130 3_1000 400 | 800 | 3200 | 4000 | 17 12 29.5 | 800 | 5500 | 6500 [ 91 0.96 17 1.52 |1 2.87

@ Bonfiglioli

Tecnoingranaggi 1 9



55A1 ... 180A1

I

N3
TN
Oz

| Ni[
Y
e

10 h7 1 s | - 503
gl [InN E : &
@ I @‘\ voT 1?4 © ‘ =

P#@—- —t 18— 3 — MP G 1302 | 16.0

o N & 2 : ~te MPG1303 | 19.5

= i | o MPG 1304 | 225

110005 ‘ L oumed ’L M12x20
124 62 | 292.2 MPG1304) 69.5 |

ng% N | N1 | N2 | N3 N4 N5 | Lmax

55A1 | 14 15875 16 19 - - - - - - | 555 1257 130 | 4 | Méx15 | 395 | 50
80A2 | 14 15875 16 19 - - - - - - | 8 | 100 | 130 | 4 | Méx15 | 395 | 50
95A1 | 14 15875 16 19 22 24 - - - - | 95 | 115 | 130 | 4 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - - - | 110 | 130 | 130 | 4 | M8x20 | 395 50
10B1 | 14 15875 16 19 22 24 - - - - | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 | 14 15875 16 19 22 24 - - - - |1143| 200 | 170 | 55 | M12x25 | 395 | 50
114A | 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A | 14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 4 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 20 Tecnoingranaggi



@ D1
N N
t: A‘q
@ D2 )
QD L5 View from Q
° ‘ = D4
FM ) ; B ‘
il
Dj D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 | M8x15 M6 40 275 6 20 14.5
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 | M8x15 M6 41 285 6 19.5 19
28 67 113 1255 | M8x15 M8 41 28.5 6 19.5 225
32 71 113 1255 | M8x15 M8 41 285 6 19.5 245
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 M8 50 37.5 11.25 26 28

5 _w- Nt Mmax Qs Qg Ct

I\
[Nm] [min-'] [min-']  [arcmin] [arcrnr:in 14..19 22-24 28-32 35-38

MP G 130 2_3
MP G 130 2_4
MP G 130 2_5
MP G 130 2_6
MP G 130 2_7
MP G 130 2_10
MP G 130 3_9
MP G 130 3_12
MP G 130 3_15
MP G 130 3_16
MP G 130 3_20
MP G 130 3_25
MP G 130 3_28
MP G 130 3_30
MP G 130 3_35
MP G 130 3_36
MP G 130 3_40
MP G 130 3_50
MP G 130 3_70
MP G 130 3_100
MP G 130 4_48
MP G 130 4_64
MP G 130 4_75
MP G 130 4_80
MP G 130 4_84
MP G 130 4_90
MP G 130 4_120
MP G 130 4_125
MP G 130 4_140
MP G 130 4_150
MP G 130 4_160
MP G 130 4_175
MP G 130 4_200
MP G 130 4_210
MP G 130 4_216
MP G 130 4_250
MP G 130 4_280
MP G 130 4_350
MP G 130 4_400
MP G 130 4_500
MP G 130 4_700
MP G 130 4_1000

@ Bonfiglioli

Tecnoingranaggi 121



MP MB 130

55A1 ... 180A1 37.5 100
172
i 2
‘ N5 2
Y75 ‘ N3 | .
R ] l
@ | | Z0 O N| | N
2 "I—’"{"*’\— S p—— - SN &S
' w L
gt |8
& \
R
|
‘ e ©
425 100 < o
172
233.5 (MP MB 130 2)
273 (MP MB 130 3)
312.5 (MP MB 130 4) 15 Nm
| 47 [ et
\
i &
8 | @ MPMB 1302 | 54
0 SIS MP MB 1303 | 58
MP MB 1304 | 61
M12 l._87.51 |
145
20 175
ng% N | N1 | N2 | N3 N4 N5 | Lmax
55A1 14 15875 16 19 - - - - - - | 555 | 1257 | 130 4 M6x15 | 395 | 50
80A2 14 15875 16 19  — = - = = = 80 100 | 130 4 M6x15 | 39.5 | 50
95A1 14 15875 16 19 22 24 - - - - 95 15 | 130 4 M8x20 | 395 | 50
110A1 14 15875 16 19 22 24 - - - - | 10 | 130 | 130 4 M8x20 | 395 | 50
110B1 14 15875 16 19 22 24 - - - - | 10 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 | 14 15875 16 19 22 24 - - - - | 1143 | 200 | 170 | 55 | M12x25 | 39.5 | 50
114A 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 - = - - | 130 | 165 | 140 4 M10x20 | 39.5 | 50
130A1 14 15875 16 19 22 24 28 32 — — | 130 | 165 | 140 4 M10x20 | 49.5 | 60
180A 14 15875 16 19 22 24 28 32 - — | 180 | 215 | 190 | 5.5 | M14x25 | 495 | 60
180A1 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

122 Tecnoingranaggi



MP MB 130

L1
L3 L2
/,/x [
EMY 3 84—
Q= =
B
%)
L4l
D| ¢ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 | M8x15 M6 40 275 6 20 145
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
%) 24 56.5 113 1255 | M8x15 M6 41 285 6 195 19
28 67 113 1255 | M8x15 M8 41 28.5 6 19.5 225
32 71 113 1255 | M8x15 M8 41 285 6 19.5 245
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 M8 50 375 11.25 26 28

‘Ti NMmax Qs @Pr Gt

Nm
i [min-1]  [arcmin] arcminl 14..19 22-24 28-32 35-38

MP MB 130 2_3
MP MB 130 2_4
MP MB 130 2_5
MP MB 130 2_6
MP MB 130 2_7
MP MB 130 2_10
MP MB 130 3_9
MP MB 130 3_12
MP MB 130 3_15
MP MB 130 3_16
MP MB 130 3_20
MP MB 130 3_25
MP MB 130 3_28
MP MB 130 3_30
MP MB 130 3_35
MP MB 130 3_36
MP MB 130 3_40
MP MB 130 3_50
MP MB 130 3_70
MP MB 130 3_100
MP MB 130 4_48
MP MB 130 4_64
MP MB 130 4_75
MP MB 130 4_80
MP MB 130 4_84
MP MB 130 4_90
MP MB 130 4_120
MP MB 130 4_125
MP MB 130 4_140
MP MB 130 4_150
MP MB 130 4_160
MP MB 130 4_175
MP MB 130 4_200
MP MB 130 4_210
MP MB 130 4_216
MP MB 130 4_250
MP MB 130 4_280
MP MB 130 4_350
MP MB 130 4_400
MP MB 130 4_500
MP MB 130 4_700
MP MB 130 4_1000

@ Bonfiglioli

Tecnoingranaggi 1 23



155.2 (MP 160 1)
194.7 (MP 160 2)
234.2 (MP 160 3)

5

,,,,,,,,,,, 9 MP 1601 | 17.0
- MP 1602 | 21
MP 1603 | 28

130+0.05 130 £0.05

55A1 ... 180A1

130 (MP1601)
169.5 (MP 160 2)
N5 209 (MmP1603) 98

N3 14
12 h7 .
+ 1]
A 7016 &
5 T\\R. \ | YIS -
A% Y14 Zzo ] o o g c
&)1 sa, I Q_\—-oi[g © MP 1601 | 17.0
N ik MP 1602 | 21
hoq g4 ® <
P g = & MP 1603 | 28
[ 130%00s 25 =
s
R
ng% N | N1 | N2 | N3 N4 N5 | Lmax
55A1 | 14 15875 16 19 - - - - - — [ 555 1257 | 140 | 5 | Méx15 | 395 | 50
80A2 | 14 15875 16 19 - - - - — — | 8 | 100 | 140 | 5 | Meéxi5 | 395 | 50
95A1 | 14 15875 16 19 22 24 - - - — | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - — — [ 110 | 130 | 140 | 5 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - - - | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A | 14 15875 16 19 22 24 28 32 35 38 [1143| 200 | 170 | 65 | M12x25 | 695 | 80
130A | 14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 65 | M14x25 | 69.5 | 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

Tecnoingranaggi

124



L1
L3 L2
2 |
FM 5 N = —
Q Q| 7 a
Q
©
AW
D E‘ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 271.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 285 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 22.5
32 74 130 1425 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 5 130 142.5 M8x16 M8 50 S5 11.25 26 28
‘T/ Je [kgem?]
~ Mn2 Ma2 Mp2 | n1 nimax Qs Qg Ct Rimax R2max Azmax 0
5 )l &
: Nm ‘
' [Nm] [Nm] [Nm] [min-'] [min-1]  [arcmin] [m [N] IN] [N] % 14..19 22-24 28 -32 35-38
MP 160 1_3 350 | 660 | 1200 | 1900 | 3000 | 15" | 10 90 1200 | 6500 | 7500 | 97 8.39 8.60 | 8.95 [10.30
MP 160 1_4 500 | 750 | 1400 | 2200 | 3500 | 15" | 10' 90 1200 | 6500 | 7500 | 97 4.68 489 | 524 | 6.59
MP 160 1_5 500 | 750 | 1400 | 2500 | 3500 | 15" | 10' 90 1200 | 6500 | 7500 | 97 3.28 3.49 | 3.84 | 5.19
MP 160 1_6 500 | 750 | 1400 | 2500 | 3500 | 15" | 10' 90 1200 | 6500 | 7500 | 97 {E32 1:53 0[N 1:88 883123
MP 160 1_7 500 | 750 | 1400 | 3000 | 4000 | 15" | 10 90 1200 | 6500 | 7500 | 97 2.03 224 | 259 | 3.94
MP 160 1_10 350 | 660 | 1200 | 3000 | 4000 | 15" | 10 90 1200 | 6500 | 7500 | 97 133 1.53 | 1.88 | 3.24
MP 160 2_9 350 | 660 | 1200 | 1900 | 3000 | 15" | 10 83 1200 | 6500 | 7500 | 94 751 7.72 | 8.07 | 9.42

MP 160 2_12 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 10 7.30 | 7.65 | 9.01
MP 160 2_15 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 6.94 715 | 7.50 | 8.85
MP 160 2_16 700 | 950 | 1800 | 2200 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 3.95 4.16 | 4.51 | 5.86
MP 160 2_20 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 2.82 3.02 | 3.37 | 4.73
MP 160 2_25 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 2.76 297 | 3.32 | 4.67
MP 160 2_28 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 {89 2.00 | 2.35 | 3.70
MP 160 2_30 350 | 660 | 1200 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.25 146 | 1.81 | 3.16
MP 160 2_35 700 | 950 | 1800 | 3000 | 4000 | 15' | 10 83 1200 | 6500 | 7500 | 94 1T 197 | 2.32 | 3.68
MP 160 2_36 500 | 750 | 1400 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.06 1.27 | 1.62 | 2.97
MP 160 2_40 700 | 950 | 1800 | 3000 | 4000 | 15' | 10 83 1200 | 6500 | 7500 | 94 1l.21] 142 | 1.77 | 3.12
MP 160 2_50 700 | 950 | 1800 | 3000 | 4000 | 15' | 10 83 1200 | 6500 | 7500 | 94 1.20 140 | 1.75 | 3.1
MP 160 2_70 700 | 950 | 1800 | 3000 | 4000 | 15' | 10 83 1200 | 6500 | 7500 | 94 1.18 1.39 | 1.74 | 3.09
Vs R 350 | 660 | 1200 | 3000 | 4000 | 15" | 10' 83 1200 | 6500 | 7500 | 94 1.18 1.38 | 1.73 | 3.09
MP 160 3_48 700 | 950 | 1800 | 2200 | 3500 | 17" | 12" 60 1200 | 6500 | 7500 | 91 4.10 4.31 | 466 | 6.01
MP 160 3_64 700 | 950 | 1800 | 2200 | 3500 | 17" | 12" 60 1200 | 6500 | 7500 | 91 3.90 411 | 4.46 | 5.81
MP 160 3_75 700 | 950 | 1800 | 2500 | 3500 | 17' | 12' 60 1200 | 6500 | 7500 | 91 22911 3.11 | 3.46 | 4.82
MP 160 3_80 700 | 950 | 1800 | 2200 | 3500 | 17' | 12 60 1200 | 6500 | 7500 | 91 3.90 4.11 | 4.46 | 5.81
MP 160 3_84 700 | 950 | 1800 | 3000 | 4000 | 17' | 12' 60 1200 | 6500 | 7500 | 91 1.84 2.05 | 240 | 3.75
MP 160 3_90 350 | 660 | 1200 | 3000 | 4000 | 17' | 12' 60 1200 | 6500 | 7500 | 91 1.24 1.45 | 1.80 | 3.15
Wi A 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1:23 144 | 1.79 | 3.14
Vs AT 700 | 950 | 1800 | 2500 | 3500 | 17" | 12 60 1200 | 6500 | 7500 | 91 2.74 2.95 | 3.30 | 4.65
Jds SRl 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 88 1.98 | 2.33 | 3.69
Wi 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.23 144 | 1.79 | 3.14
W] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1:20 141 | 1.76 | 3.11
Vs reT | 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.76 196 | 2.31 | 3.67
W] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.20 141 | 1.76 | 3.11
Vs 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.23 144 | 1.79 | 3.14
VSR 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1l1ke 1.40 | 1.75 | 3.10
Vs Rl 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.39 | 1.74 | 3.09
VUSSR 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.39 | 1.74 | 3.09
VUSSR 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.38 | 1.73 | 3.09
VSISO 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.38 | 1.73 | 3.09
VUSSR 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.38 | 1.73 | 3.09
Vs 350 | 660 | 1200 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.18 1.38 [ 1.73 | 3.09

@ Bonfiglioli

Tecnoingranaggi 1 25



55A1 ... 180A1

gN
029{ @D jl
of 1 ] 14 _
S N b2
12h7 4 "70_ 6
|
: O3 125 &
] ! B [T
H et ——8——— H—1 o MPG1602 | 24
o I\ 2 : == MPG 1603 | 28
¥ | Q MPG1604 | 34
|
218.2
130 +0.5 | S ’L M12x25
137 62 ‘ 297.2 (MP G 160 4) 98 |
N4 T
© &)
) V4 N}
/1 )
/f©\\.
\ \\ \\J // /
|\ |
N2
@ N1
ng% N | N1 | N2 | N3 N4 N5 | Lmax
55A1 | 14 15875 16 19 - - - - — — | 555 1257 140 | 5 | M6éxi5 | 395 | 50
80A2 | 14 15875 16 19 - - - — — — | 8 | 100 | 140 | 5 | Meéxi5 | 395 | 50
95A1 | 14 15875 16 19 22 24 - - - — | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - — — [ 110 | 130 | 140 | 5 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - - - | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A | 14 15875 16 19 22 24 28 32 35 38 [1143| 200 | 170 | 65 | M12x25 | 695 | 80
130A | 14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 65 | M14x25 | 69.5 | 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 26 Tecnoingranaggi



@ D1
A N 2
& N
@ D2
QD L5 View from Q
S ! 5 D4
FM ) | 35 ‘
@D,
T
D| [P D1 D2 D3 D4 D5 L1 2 L3 L4 L5
<
14 15.875 16 48 13 1255 | M8x15 M6 40 27.5 6 20 145
19 51 13 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 285 6 19.5 19
28 67 13 1255 | M8x15 M8 41 285 6 19.5 225
32 71 13 1255 | M8x15 M8 41 285 6 19.5 245
35 73 13 1255 | M8x15 M8 50 375 11.25 26 26

N1 Nimax Qs Or Ct | R2max Azmax

[min-1] [min-1]  [arcmin] ’arg_gm] [ [N] 14..19 22-24 28-32 35-38

MP G 160 2_3
MP G 160 2_4
MP G 160 2_5
MP G 160 2_6
MP G 160 2_7
MP G 160 2_10
MP G 160 3_9
MP G 160 3_12
MP G 160 3_15
MP G 160 3_16
MP G 160 3_20
MP G 160 3_25
MP G 160 3_28
MP G 160 3_30
MP G 160 3_35
MP G 160 3_36
MP G 160 3_40
MP G 160 3_50
MP G 160 3_70
MP G 160 3_100
MP G 160 4_48
MP G 160 4_64
MP G 160 4_75
MP G 160 4_80
MP G 160 4_84
MP G 160 4_90
MP G 160 4_120
MP G 160 4_125
MP G 160 4_140
MP G 160 4_150
MP G 160 4_160
MP G 160 4_175
MP G 160 4_200
MP G 160 4_210
MP G 160 4_250
MP G 160 4_280
MP G 160 4_350
MP G 160 4_400
MP G 160 4_500
MP G 160 4_700
MP G 160 4_1000

@ Bonfiglioli

Tecnoingranaggi 127



MP MB 160

55A1 ... 180A1 375 100
172
F— 0 ©
‘ N5 =
| ! N3
4’779 : ). T -
\@———L 77@ o] - g
e l
o I Z\0 o N| | o
& set - SRR
; [Te} |
o —d | 8
g |
e
|
‘ b 0
42.5 100 2 ©
172
237.5 (MP MB 160 2)
277 (MP MB 160 3)
316.5 (MP MB 160 4) 15 Nm
| 47 —
|
® o] o)
S : MP MB 160 2 59
2 wnl w
%« e S — — F—r <| © MP MB 160 3 | 63.5
O . MP MB 1604 | 70.5
5
' T
= i
M12 ‘4&,
145
20 175
ng% N | N1 | N2 | N3 N4 N5 | Lmax
55A1 14 15.875 16 19 - - - - - - 55.5 | 125.7 | 140 5 M6x15 39.5 50
80A2 14 15.875 16 19 - - - - - - 80 100 140 5 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — - — — 95 415 140 5 M8x20 395 50
110A1 14 15.875 16 19 22 24 - — - - 110 130 140 5 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - - — — 110 145 140 6.5 M8x20 49.5 60
114A 14 15875 16 19 22 24 28 32 35 38 | 114.3 | 200 170 6.5 M12x25 | 69.5 80
130A 14 15.875 16 19 22 24 - - - - 130 165 140 5 M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
180A 14 15875 16 19 22, 24 28 32 — — 180 215 190 6.5 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 6.5 M14x25 | 69.5 80

Please contact us for other motor adapters and input shaft bore.

@ Bonfiglioli

1 28 Tecnoingranaggi



MP MB 160

L1
L3 L2
52z [
FM ot B3 L
Q Q- a
Z | Q
o ©
“ e
D {£p D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 2155 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 5655 130 142.5 M8x16 M6 41 28.5 6 195 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 225
32 il 130 142.5 M8x16 M8 41 28.5 6 195 24.5
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 77.5 130 142.5 M8x16 M8 50 S5 11525 26 28

‘Ti NMmax Qs @r Gt

: : Nm
[min-'] | [aremin] | |3emin 9 14..19 22-24 28-32 35-38

MP MB 160 2_3
MP MB 160 2_4
MP MB 160 2_5
MP MB 160 2_6
MP MB 160 2_7
MP MB 160 2_10
MP MB 160 3_9
MP MB 160 3_12
MP MB 160 3_15
MP MB 160 3_16
MP MB 160 3_20
MP MB 160 3_25
MP MB 160 3_28
MP MB 160 3_30
MP MB 160 3_35
MP MB 160 3_36
MP MB 160 3_40
MP MB 160 3_50
MP MB 160 3_70
MP MB 160 3_100
MP MB 160 4_48
MP MB 160 4_64
MP MB 160 4_75
MP MB 160 4_80
MP MB 160 4_84
MP MB 160 4_90
MP MB 160 4_120
MP MB 160 4_125
MP MB 160 4_140
MP MB 160 4_150
MP MB 160 4_160
MP MB 160 4_175
MP MB 160 4_200
MP MB 160 4_210
MP MB 160 4_250
MP MB 160 4_280
MP MB 160 4_350
MP MB 160 4_400
MP MB 160 4_500
MP MB 160 4_700
MP MB 160 4_1000

@ Bonfiglioli

Tecnoingranaggi 1 29



55A1 ... 180A1

158.7 (MP 190 1)
210.4 (MP 190 2)

N5  262.1 (vP 190 3) 96
13 N4
5 N4
=
60 | 11 B B
St &
‘ £ V e |
s s 4 18 \ Q@ y MP1901 | 25
[ INE NS \ :
S N Al MP1902 | 29
Ss EAN——— MP1903 | 34
Lo 15 N2
@ N1

Di:@% N | N1 | N2 | N3 NA | N5 | Lma
14 16 19 - - - - - - - - - |555|1257] 140 | 5 | Méx15 | 395 | 50
14 16 19 - - - - - - | 8 | 100|140 | 5 | mext5 | 395 | 50
14 16 19 22 24 - - - - - - — | 9 | 115 | 140 | 5 | M8x20 | 395 | 50
14 16 19 22 24 - - - - - — — | 110 | 130 | 140 | 5 | M8x20 | 395 | 50
14 16 19 22 24 - - - - — - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 16 19 22 24 28 32 35 38 42 45 48 |1143| 200 | 170 | 65 | M12x25 | 69.5 | 80
14 16 19 22 24 - - - - - - - | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
14 16 19 22 24 28 32 - - - - — | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
14 16 19 22 24 28 32 - - - - — | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 | 190 | 65 | M14x25 | 695 | 80

Please contact us for other motor adapters and input shaft bore.

FM
(9]
L3 © 74 - L2
Q 1 a 1 nl
{ ) »
= 3
Q| i a “p ]  — .
Q Q 4 o
77 ) Q
7 S |
L4
L1
D {“‘" D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
</
14 16 48 130 142.5 M8x14 M6 45.5 215 6 20 14.5
19 51 130 142.5 M8x14 M6 45.5 275 6 20 16.5
22 24 5615 130 142.5 M8x14 M6 47 29 6 20 19
28 67 130 142.5 M8x14 M8 47 29 6 20 22.5
o2 7 130 142.5 M8x14 M8 47 29 6 20 245
35 73 130 142.5 M8x14 M8 54.5 36.5 6 25 26
38 IG5 130 142.5 M8x14 M8 54.5 36.5 6 25 28
42 92 130 142.5 M8x14 M10 60.5 40 6 25 33
45 95 130 142.5 M8x14 M10 60.5 40 6 25 33
48 97 130 142.5 M8x14 M10 60.5 40 6 25 33
@ Bonfiglioli

1 30 Tecnoingranaggi



NS Je [kgcm?]
%\‘\‘}l Mnz | Maz |Mp2 | M Nimex Qs Qr | © |RemaxAzmax 0 ~
: Nm bt
' [Nm] [Nm] [Nm] [min-1] [min-1] [arcmin] [arcmin] [Nl [Nl % 14..24 28-32 35-35 42 45-48
MP 190 1_3 500 | 800 | 1400 | 1500 | 2500 | 15" | 10' 130 |14000(|15000| 97 | 24.20 | 24.88 | 25.65 | 29.30 | 29.90
MP 190 1_4 700 | 950 | 1800 | 2100 | 3000 | 15" | 10' 130 |14000{15000( 97 | 13.41 | 14.09 | 14.85 | 18.51 | 19.11
MP 190 1_5 700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 130 |14000(|15000| 97 9132 10.00 | 10.77 | 14.42 | 15.02
MP 190 1_6 700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 130 |14000|15000| 97 2.88 3:56 4.33 7.98 8.58
MP 190 1_7 700 | 950 | 1800 | 2900 | 3500 | 15" | 10' 130 |14000|15000| 97 5.68 6.36 713 10.78 | 11.38
MP 190 1_10 500 | 800 | 1400 | 2900 | 3500 | 15" | 10' 130 |14000|15000| 97 3150 4.25 5.02 8.67 9.27
MP 190 2_9 500 | 800 | 1400 | 1500 | 2500 | 15" | 10' 100 |14000(|15000| 94 | 23.23 | 23.91 | 24.67 | 28.33 | 28.93

MP 190 2_12 1000 | 1200 | 2200 | 1500 | 2500 [ 15" | 10' 100 [14000(|15000( 94 | 22.03 | 22.71 | 23.48 | 27.13 | 27.73
MP 190 2_15 1000 | 1200 | 2200 | 1500 | 2500 | 15' | 10' 100 (14000({15000( 94 | 21.58 | 22.25 | 23.02 | 26.68 | 27.27
MP 190 2_16 1000 | 1200 | 2200 | 2100 | 3000 | 15" | 10' 100 [14000({15000( 94 | 12.19 | 12.86 | 13.63 | 17.29 | 17.89
MP 190 2_20 1000 | 1200 | 2200 | 2300 | 3000 | 15" | 10' 100 [14000{15000| 94 8.54 €)% 9.98 | 13.64 | 14.24
MP 190 2_25 1000 | 1200 | 2200 | 2300 | 3000 | 15" | 10' 100 [14000(|15000( 94 8.37 9.05 9.82 | 13.48 | 14.07
MP 190 2_28 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 [14000(|15000( 94 5.28 5.96 6.73 | 10.38 | 10.98
MP 190 2_30 500 | 800 | 1400 | 2900 | 3500 | 15' | 10 100 [14000(|15000( 94 3.48 4.16 4.93 8.58 9.18
MP 190 2_35 1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10' 100 [14000(|15000( 94 5.20 5.87 6.64 | 10.30 | 10.90
MP 190 2_36 700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 100 [14000(|15000( 94 2.18 2.86 3.63 7.28 7.88
MP 190 2_40 1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 [14000|15000( 94 3.37 4.05 4.82 8.48 9.07
MP 190 2_50 1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 [14000|15000( 94 3.33 4.01 4.78 8.44 9.03
MP 190 2_70 1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 [14000|15000( 94 3.30 3.97 4.74 8.40 9.00
el 500 | 800 | 1400 | 2900 | 3500 | 15" | 10 100 [14000(|15000( 94 3.28 3.95 4.72 8.38 8.98

MP 190 3_48 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12' 90 [14000(|15000( 91 | 12.73 | 13.40 | 14.17 | 17.83 | 18.43
MP 190 3_64 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12 90 [14000|15000( 91 | 12.10 | 12.78 | 13.55 | 17.21 | 17.80
MP 190 3_75 1000 | 1200 | 2200 | 2300 | 3000 | 17" | 12 90 [14000|15000( 91 8.86 9.54 | 10.31 | 13.97 | 14.56
MP 190 3_80 1000 | 1200 | 2200 | 2100 | 3000 | 17" | 12' 90 [14000(15000{ 91 | 12.09 | 12.76 | 13.53 | 17.19 | 17.79
MP 190 3_84 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12' 90 [14000|15000( 91 5.46 6.13 6.90 | 10.56 | 11.16
MP 190 3_90 500 | 800 | 1400 | 2900 | 3500 | 17" | 12' 90 [14000({15000{ 91 3.47 4.15 4.92 8.57 il
VSR TR AR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.46 4.14 4.91 8.56 9.16
LRl A 1000 | 1200 | 2200 | 2300 | 3000 | 17" | 12 90 [14000({15000( 91 8.34 9.01 9.78 | 13.44 | 14.04
VSR TR TR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 5.25 5.92 6.69 | 10.35 | 10.95
VSR TR TR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.46 4.13 4.90 8.56 915
VSR TR I 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.36 4.04 4.81 8.46 9.06
LSRR AT 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 5.18 5.85 6.62 | 10.28 | 10.88
VSR TR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.36 4.03 4.80 8.46 9.06
VIS TR EPA T 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.45 4.13 4.90 8.55 945
VS TR EPATE 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000({15000( 91 3.32 4.00 4.77 8.42 9.02
VST EE T 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.29 3.97 4.74 8.39 8.99
LR TR ETE 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.29 3.97 4.74 8.39 8.99
VSR TR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.27 3.95 4.72 8.38 8.97
LSRRl 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.27 3.95 4.72 8.38 8.97
VSR TR 1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 [14000|15000( 91 3.27 3.95 4.72 8.38 8.97
Wl IS 500 | 800 | 1400 | 2900 | 3500 | 17' | 12' 90 [14000|15000( 91 3.27 3.95 4.72 8.38 8.97

@ Bonfiglioli

Tecnoingranaggi 1 31



5.3.1 MACHINE SHAFT

Pivot of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
M B B1 B2
S
08 08 7J\"I\ 5°
< < < 2

ﬁ A1 A2 A3 A4 B B1 B2 S

MP MB 080 =25 20 h7 18 20 h7 178 50 90
MP MB 105 =40 32 h7 30 32 h7 205 60 115 1
MP MB 130/160 =50 42 h7 40 42 h7 259 70 140
- @ Bonfiglioli

Tecnoingranaggi



